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1.

The vision of success for all students 1n
mathematics depends on:

Establishing learning environments that
facilitate student learning of mathematics.

A commitment to equity and to excellence.

Defining the critical goals of mathematics
education today — what students should know
and be able to do (i.e., content and
Processes).



“What students should know and be able to do.”

New Jersey’s mathematics standards rest on the
notion that an appropriate mathematics
curriculum results from a series of critical
decisions about three inseparably linked
components:

1. Content
Instruction

3. Assessment



HSPA/SRA

The SRA 1s aligned to the HSPA test specifications to
ensure that students who demonstrate proficiency
through the SRA have demonstrated the same
knowledge, skills and performance levels as students
who are proficient on the HSPA itself. The process
used for the development of the SRA 1s designed to
ensure that the SRA 1s fair, reliable, and comparable
for all eligible SRA candidates, including students
from special populations.


















CCCS

Standard 5 — Mathematical Processes

Problem Solving
Communication
Connections
Reasoning
Representations
Technology



SRA PAT Selection

SRA PAT selection 1s based only on the results of the
student’s first HSPA administration. A partially
proficient scaled score 1n either content area means
the student must successfully complete two PATs for
each standard 1n the content area.

Mathematics has 4 content standards. The student must
successfully complete two SRA PATs in each
standard for a total of 8 SRA mathematics PATs



Exception

Students who have achieved a perfect standard
score or missed the perfect standard score by
one point do not need to complete SRA PATSs
for that standards.

Once the student has successfully completed the
SRA PATs as determined by the results of the
student’s first HSPA administration, the
student 1s finished with the SRA process.






SRA Math Instruction

Review core content knowledge for each of the
four standards.

Do not base instruction on an individual PAT.

It 1s considered a breach 1f a teacher uses a
PAT for instruction. It does not make a
difference if the numbers on the PAT were
changed.

There are some PATSs that are more difficult
than others.



Preparing to Score PATSs

* [t 1s very important for teachers to sit and take
the PAT for themselves. You will get a good
idea of where and why mistakes can occur.

* Your answers may be different from the
sample solution. Remember the sample
solution 1s just that.

e Review the rubric. Reminder that the rubric
cannot cover all instances.



Scoring of PATs

For mathematics, the proficient score 1s a mean score of
2 on each PAT which means that the two SRA panel
members each scored the student’s response a 2 or
better. If the two SRA panel members’ scores
disagree by more than one point, a third content-
certified panel member score the response. The new
PAT score 1s derived by taking the mean of the two
highest contiguous scores. If no two of the three

scores are 1n agreement, the student must complete
another PAT.



Generic Rubric

 3-Point Response

e The response shows complete understanding of the
problem’s essential mathematical concepts. The
student executes procedures completely and gives
relevant responses to all parts of the task. The
response contains few minor errors, if any. The
response contains a clear, effective explanation
detailing how the problem was solved so that the
reader does not need to infer how and why decisions
were made. (Everything correct)






Generic Rubric

 1-Point Response

* The response shows limited understanding of
the problem’s essential mathematical concepts.
The response and procedures may be
incomplete and/or may contain major errors.
An incomplete explanation of how the problem
was solved may contribute to questions as to
how and why decisions were made.
(something right)









Sample Solution

5/3, 4/3 these numbers are rational numbers
because they can be written as the ratio of two
integers

OR

. 1.5, 1.7689 these numbers are rational numbers
as they have terminating decimals

OR

. 13,151 these numbers are rational as they have
repeating decimals

OR

* any ratio of integers, within the range of values,
with correct reasoning

OR

* any numbers, within the range of values, that
have terminating decimals with correct
reasoning

OR

* any numbers, within the range of values, that
have repeating decimals with correct reasoning

OR

OR

OR

OR

1.9090090009000009..., 1.2468101214... these numbers
are irrational as the decimal patterns do not repeat
themselves

7 -2, 41t/7 these numbers are irrational because 7 is an
irrational number, and the sum/product of an irrational
number and a rational number is irrational

V2,3 these numbers have non-terminating non-
repeating decimals

any numbers, within the range of values, that have non-
repeating non-terminating decimals with correct
reasoning

any sum or product of a rational number and an irrational
number, within the range of values, with correct
reasoning



Scoring Rubric

3-Point Response
The response contains:
two correct rational numbers and correct reasoning why the numbers are rational
AND
two correct irrational numbers and correct reasoning why the numbers are irrational
2-Point Response
The response contains:
one correct rational number with correct reasoning
AND
one correct irrational number with correct reasoning
OR
two rational numbers, which do no necessarily fall into the range of values, with some reasoning
AND
two irrational numbers, which do not necessarily fall into the range of values, with some reasoning
OR
four correct values with reasoning for at least one of them
1-Point Response
The response contains:
four correct values with no correct reasoning
OR
one correct value with reasoning
OR
two values that are correctly labeled as rational or irrational but do not necessarily fall within the range, and at least one of
these values contains reasoning
0-Point Response
The response demonstrates insufficient understanding of the problem’s essential mathematical concepts. The procedures, if
any, contain major errors. There may be no explanation of the required solutions or the explanation may not be
understandable. How decisions were made may not be readily understandable.
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Scoring Rubric

3-Point Response
The response contains:

the correct answer of yes, the image would be affected by the order and the image of the point

AND

the correct pair of transformations for which order affects the final image and the image of the point using both orders

AND

a correct pair of transformations for which the images would not be affected by the order in which the transformations were performed
AND

the final image of this pair of transformations

2-Point Response
The response contains:

OR

the correct answer of yes, the image would be affected by the order and the image of the point

AND

the correct pair of transformations for which order affects the final image

AND

a correct pair of transformations that would not be affected by the order but the images of the transformations are missing

two correct answers with the correct images

1-Point Response
The response contains:

OR

one correct answer with the correct images

a minimal understanding of the concepts - the response contains errors in finding the images that lead to incorrect answer

0-Point Response

The response shows insufficient understanding of the problem’s essential mathematical concepts. The procedures, if any, contain major
errors. There may be no explanation of the solution or the reader may not be able to understand the explanation. The reader may not be
able to understand how and why decisions were made.
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Sample PAT
Standard 4 — 11M4-12B02-AXCDXX-XGS292

The 8-cm by 8-cm square region, shown in the

A

A 4

8 cm

diagram above, contains a shaded 4-cm by 3-cm
rectangular region. A computer program is

designed to randomly choose a point inside the X
8-cm by 8-cm square region.

¢  The computer chooses 1,000 points inside the
square. Approximately how many of the points
would be expected to fall inside the shaded
rectangle? Show your work or provide an <4 cm-]
explanation for your answer. 8 cm T

* A second 8-cm by 8-cm square region is created 3cm
containing a different shaded rectangular region. l
The computer chose 1,000 points inside the
square region. Of the 1,000 points chosen, 250
of the points were inside the shaded rectangular

region. Approximate the area of the shaded 4
rectangular region. Show your work or provide
an explanation for your answer.

*  Give one set of possible dimensions for the
second shaded rectangular region.






Scoring Rubric

3-Point Response
The response contains:

a reasonable estimate of the number of points
that will fall within the rectangle with clear,
correct work or explanation for the answer

AND

a reasonable estimate of the area within the
rectangular region with clear, correct work or
explanation for the answer

AND
correct dimensions for the area that was

calculated with neither dimension greater than
8 cm

2-Point Response
The response contains:

three correct answers with work or explanation
for at least one of them

two correct answers with work or explanation for
both of them. The third part will be considered to
be correct if the dimensions given multiply
together to equal the area calculated and are less
than or equal to 8 cm.

1-Point Response
The response contains:

OR

OR

two correct answers

a reasonable number of points with work or
support for the answer

one correct answer with work or explanation.
The third part will be considered correct if the
dimensions given multiply together to equal the
area calculated and are less than or equal to 8
cm.

OR

dimensions which when multiplied together give
the area calculated and each of which are less
than or equal to 8 cm

0-Point Response

The response shows insufficient understanding
of the problem’s essential mathematical
concepts. The procedures, if any, contain major
errors. There may be no explanation of the
solution or the reader may not be able to
understand the explanation. The reader may not
be able to understand how and why decisions
were made.
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References

These sample items were taken from:
HSPA — A Mathematics Handbook: Open-Ended Questions (January 2006)

Copies may be purchased from the NJDOE publication office (609/984-0905)
at a cost of $5 each. Please reference the #J0207

A more economical way is to print out a copy of the handbook from the
NIDOE website. http://www.state.nj.us/njded/assessment/hs/

It is the first item listed under “Additional Information.”

It 1s a large PDF file; however, print out one copy then you can make as many
copies as you want.



Contact Information

SRA Coordinator — Dr. Faye Ball

Office #: 609/984-1970
Email: faye.ball@doe.state.nj.us

Mathematics Coordinator — Tim Giordano
Oftice #: 609/633-8015
Email: timothy.giordano@doe.state.nj.us

Director of State Assessments
Dr. Timothy Peters

Office #: 609/984-6311
Email: timothy.peters@doe.state.nj.us



